Gecmetry ~ EOC Practice Milestone Items Name GD

Hem 1
Selected-Response: 1 point

In this figure, /|jn. Jessie listed the first two steps in a proof that shows
ms1+ms2 + mse3=180°

a

Step Justification
1| 42=/4 ?
2| £3=,5 ?

Which justification can Jessie give for Steps 1 and 2?

@Alternate interior angles are congruent.
B. Corresponding angles are congruent.

C. Vertical angles are congruent.

D. Altemate exterior angles are congruent.

ftem 2
Selected-Response; 1 point

The points O(-4, 3), A(x, ¥), and B(x, 3) create a right triangle inside of Circle O.
Point A lies on the circle. OA = 6 centimeters.

What is the equation of Circle 0? O \s Conter (— Lll 3 )
A x4 (Y~ 3P =6 Oh= lo fodws
B (x-3P2+(y-3)%=6 :
“C. (x—3)2+(y+4)2=36 Ales m O,
é (X+4)2+(y-3)°=36
T;—-j—“ A S |<1\AJ
ftem 3 What i / QPR?
Selected-Response: 1 point @
In this circle, mQR = 72°. 1 A. 18°
P B. 24°
/f.
D. 72°




|

ftom 4
Selected-Response: 1 point

Look at the square pyramid.

describes the shape of the intersection?

If the plane in the figure is parallel to the base of the pyramid, which BEST

Hen &
Selected-Response: 1 point

This diagraim shows twa ladders leaning against a building. Each ladder is leaning at
an angle of 70 degrees.
« The length of the short ladder is 8 feet,

The hase of the long ladder is 5 feet farther from the hase of the building than
the base of the short ladder is.

Eli=
(05—,0‘ 3

.

Y Bes W

Selected-Response: 1 point

Look at the coordinate grid below.

‘9-6:‘\\@+-q=5 | |. y\
¢ ittt 4
ZG= v el =R ge

LA

A) arectangle
?. a trapezoid ‘ﬁ'ﬁ 3 F*
C. atriangle
D. acirzle
(oS> x
o871 5r.
2
What is the length, to the nearest’| foot..hf the long {adder?
o —
sin70°=0.9347
cos70°=0.3420
tan70°=2.7475
A. 101t
L 13 fL
23 ft.
. 26 ft.
ftem 6 Hem 7

Selected-Response: 1 point

Look at the coordinates of square ABCD.

B

P~ Y+ - (11

11 i
A - .1 U
1 3,/{1_1
pd—a

1 Il'{-:‘!

-4

What is the perimeter of APQR?
A, 4+ 42

B 14
O+ v17

D. 17

« A(=3,0) if :““}-' - (—i‘ ) ’
= ("> L
N ‘ = B(2,4) ke T
- - €(6,-1) |25+l
T < D(1,-5) oy
3.4

| What is the perimeter of square ABCD?

g (uv

A. 20 units
/B.)4V41 units
€7 2v82 units

D. 41 units




ftein 8 Jtam 9
Selected-Response: 1 point Technology-Enhanced: 2 points

Paul has a spinnet with the colors red, green, blue, orange, and purple on it. He also  Triangle ABC is similar but not congruent to triangle DEF.
has a six-sided number cube. —— e

The probability of the arrow of the spinner stopping on green is% and the

Part A

- . R . i trans tions d tri BC omt e DEF?
probability of getting a number greater than 2 when tossing the number cube is % Which series af transformations could map triangle ABC onto triangle

A. translation 4 units up, rotation 75 about the origin

What is the probability of landing on green and tossing a humber greater than 2? . reflection across the line y = 2. sgtation 80° about the origin

) ranslation 3 uiiits le gecale factor 2 centerid at the origin
Al . reflection across the line x = 1, reflection across the line y =8

] P C é-' /\ # 7 2-3
B 3 Part B

. _L_ H . Rs Which equation must be true about triangle ABC and triangle DEF?
¢ % S X e IR0 T3
: & A. AB=DE

10

B. AC=EF o,
D. 15 meA+meB=msD+maF &\ o g
n{.A tmiC=miD+miF A}; & A Dt

[
Ww

i

P, S i 1

fiem 10 fom 11
Technoiogy-Enhanced: 2 points Technology-Enhanced: 2 points

Triangle GHJ is a right riangle. Angle G has a measure of g° angle H has a measure ¢, . figure shows circle C with tangent lines (Qﬁ; and SR
of h?, and angle / is a right angle. AL L S '
e et . 3

O tes el s T0°

o~ \180= {80°

Part A
-
b
Select TWO equations that must be true. Y
ettty e e L el e —
| A<7Sin(h°) = sin(g°) _ 8
B, kos(g”) = sin(h) T 3
Los(h®) = cos{g®)
D.Ain(h*) + cos{h®) = sin{g®) + cos(g°} "'j N _’i‘ . K ” H{‘
. sin{g® + cos(h®) = cos{g®} + sinih®} % L w5 Y
Part B
. sin(g?) !
Given that tan{g®) = — -, which ratio must have a value equivalent to the .
cos(g%) g The measure of £ QCS is x°.
tangent of g°?
3 ; Select THREE statenients that are true about the figure.
. :’:{(:D; i 0&' *-'é- los W § ,A"T he measure of <~ QPS is (90 - x)°. _ &
os‘h’) P =u ﬂ- { B;}The measure of £QPS is ;A". / e r\mé [ 1
‘.":IFI[}T;] , s YA V\ ( Th s a0? V
Vs e measure of 2~ PSR is 907, ' :
i ( % s he measure of £ CQR is 90°. Re NS o4 I
(EJ The measure of < QRS is (180 - x)°. o
= }/’[ he measure of L QRS is 2x*,

i

\
e LR
= d

Qyﬁgi;(.gu\&'l S



fey 12
Constructed-Response: 2 points

Billy is creating a crcular garden divided into 8 equal sections. The diameter of the
garden is 12 feet. T BO———

What is the area, (n square feet, of ane section bf the garden? Use x = 3,14,
Explain how you determined your answer, Write yow answer ok the linas provided.

Al 8 gecvs bt M Cone onbo,

d A

LN A AT (A

t T
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i
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U&!:.I?} If‘a “ LS Ly f’L-*-.,q,«
hudw\-% Ha ¢ou b Zﬁ .

ity A

Extended Constructed-Response: 2 points
Jane and Mark each buitd ramps to jump their remate-controlled cars.

Both ramps are right trianglas when viewed from the side. The incline of jane's

rAmD makes i 30<legree angle with the ground, and the length of the inslined ramp
is 14 inches, The Incline of Mark's ramp makes a 45-degree angle with the ground.
and the length of the inclined ramp Is 10 inches,

Part A: What is the horizontal iength of the base of each tamp? Explain how you
found your answers. Write your answers on the lines provided,

[sin30° = 0.BOO0  sind5* = 0.7071}
10os30° = 08880 cosdd®= 07071

{an30% = 05774 19457 = 16000 ] —
Part 8: Which gar is launched from Ih@;_est aplatn your reasoning. Write

your answer on the iines provided.

— = W ! : "%\ﬁiﬁ Tk Wiee &
- :,‘. - q‘k S 30 it Yfi"{ §tm ",{" LB]‘[_D
X
n [y N D] =10
Tt Wherle \" ENTS) i'i 19 s S U

* . we 1 y> 1ot
os 30 T tps YT 2w J o

T 2
X

g % 1% w 2% 1.0 1 w’lwlés cev lpunebed ch

X s 1 horzonted digtane ok Ao ‘;.,.\-\

gt b Vg )




1 In this figure, LN .1 KM.

L

N

What information would a student need
to prove AKLN ~ AMIN?
ZLRN = ZLMN

('A}
‘B ZLNK 52 LLINM

C ZKLN = ZLNM
D ZLKN=ZNLM

3 Which figure represents the dilation of segment GH about the origin by a scale lactor of 27 / A

11
155 i

i

}

2 This figure shows quadrilateral JKLM.

M /i

What information wi
prove that JKLM is a parallelogram?

Arw that ZJLM == ZLIK
B Show that JK =M.
show that AJKL = ALMJ.
how that AJKL > AJIM.

used Lo

4 sh transformation of AHLS does
resull in a congruent triangle?

o
A wgeflegtion seross the vaxis, followed by a

retation of 1807 about the origin
B arotati

y 180° ubout the origin,

folfowed by o translation of 2 units left and

C

1 units down
a 1Luu.s|.il.limrfm;il right and 2 units up,

followed by a dilation by a factor of 3
@n dilation by a factor of 2, followed by a

dilation by a lactor of (15

i e 3.y ;l

)

5 Use this triangle (o anywer (he question.

0

This is w proof of the Pythagorcon theorem.

Step Justillcation
= v'/
A 1{'Qk ARPS - AQSREAA posiulale
y i | Correuponding sides
| /% !’%ﬂnd %% = % of similar ieiangles
- 4 nl - are congrnenl
5 | e’ =re- sQand Multiplicalion
Y| PRI = PO PS property olequalily
P T+ PRI = .
4 )gg. ;Qlff’(’ . VP.S' Addition property
= QR+ PR = Disicbudive
o POISQ + PS) praperty
> Segrient addition
AT o s rie = powre) | postiate
T| R+ PRE= P} Strgslify

Tn which step 1s there a mistake in the proof?

A Swepl
B Step2

Step 4
D Stepd

b
L

& Uscline segment HT to answer the

question.

H J /

v
Which step should be first to draw a line 7/1/

perpendicular to HI at point J?

A Place the compass on point H and set its
width W less than HJ.
B Place the compass on point M aud sel ity

width to more than HJ
@Pl;icc the compass on point J and sct iis
width to fess than Hi.

D Place the compass on point J and set its
width W more than 111,

7 Which polygon Inscribed in 4 circle hay an ares clusest to T square feet?

Y
o |

bt |

1= e+l ]
| = | |
17 |
| !|| |
[ 22 I 5 :
§ | |

8 Circle P has tangents XY and ZY and
chords X and WZ, as shown in this
figure, The measure of ZZWX = 70°.

X

What is the measure, in degrees, of ZXYZ?

A 20°

35°
‘ :; )40°
55°

Z

s
N

=
f()= W
w‘lm v vl

<,

C -\m'{_'d ]

20 - 140
7

4

Y
&

Slda s



10 The graph of a circle has its center at

(2, 3) wi divy of 10 units, Which

point doeg ¢ on the circle? Z

A (=4 ~5) (3(”)+(w) 9)

B (8, 1.

C -2, 6 '/ZLI-SA)‘LIB 3)" 100
(—4,11)

(-"-() *(3) 10Q
lo +9 # (00

11 Insoccer, n shutout 35 n game where ihe
winning teaa does not allow the othor
team Lo seore & £oal.

— e

£ the 5ot Y represents all wins, and
5 represents sll shutouts, which set
describes the sed of shutont wins?

C?Qﬁ W WS Gv~4—$hv§owks
C WS it
D WSy

12 Which two-way frequency table shows thal P(W |Y)=0.25?

‘ Ei Event Y | Event Z | Total L Event Y | Event Z | Total
BvedW| {12 } 24 36 Event W 12 36 48
EvenlX | 36 28 64 Event X 26 26 52
Totat | /48 ) | 52 100 Tolal 38 62 100

L f
W
¢ EventY | Event 7 | Total b Event Y | Event Z | Total
Eveni W 25 2] 46 Event W 10 26 36
Event X 12 42 54 Event X 40 24 64
Total 37 63 100 Total 50 50 100

13 Which is an equation for the circle with a centeér at (-2, 3) m:d ar mllus of 3"

A, ¥y -Gy +22 : Z
| y :.Lh-_f" n} .,g,() 19,9

CHv' by b dy b d =0

P

1}

18 Binnca spins tvo spinners thit haye four equil sections sumbered 1 through 4. If she
spins a 4 on at least one spin, what is the probahility that the sum of her two spins is an
odd number?

| P Suwn odd lq\

A -
4
B.% Wl 2 |I$I_‘_=|J”:{.ﬂ
(= 2,t 2,2 43 2,4
p. UL 3,0 32 3;3 M
C @i d3 AL

14 What is the center of the circle given by the equation x* + 7 - 10x - 11 = 0?

Bso

:‘. :n Ly
3
D. (0, 5) ()(*5)

16 Ench letter of the alphabet is sritten nn » card nslng a red inlepen aud placed in »
contuiner, Each letter of fhe alphabet is nlso written on 4 eard using a black ink pen

and placed in the same container. A single cord is deaswn at randon from the contatner.
What 1s the probahility that the carvd has a letter written in black ink, the Ietter A, oy
T
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